

## Relations Inverses (E)

Remplissez les espaces blancs.

$4 \times 6 = 24$

$6 \times \underline{\quad} = 24$

$24 \div \underline{\quad} = 4$

$\underline{\quad} \div 4 = 6$

$4 \times 3 = 12$

$\underline{\quad} \times 4 = 12$

$12 \div \underline{\quad} = 4$

$12 \div 4 = \underline{\quad}$

$9 \times 6 = 54$

$\underline{\quad} \times 9 = 54$

$54 \div \underline{\quad} = 9$

$54 \div 9 = \underline{\quad}$

$2 \times 6 = 12$

$6 \times 2 = \underline{\quad}$

$12 \div \underline{\quad} = 2$

$\underline{\quad} \div 2 = 6$

$4 \times 4 = 16$

$4 \times \underline{\quad} = 16$

$\underline{\quad} \div 4 = 4$

$16 \div 4 = \underline{\quad}$

$3 \times 2 = 6$

$2 \times 3 = \underline{\quad}$

$\underline{\quad} \div 2 = 3$

$\underline{\quad} \div 3 = 2$

$6 \times 3 = 18$

$\underline{\quad} \times 6 = 18$

$18 \div 3 = \underline{\quad}$

$18 \div 6 = \underline{\quad}$

$9 \times 6 = 54$

$\underline{\quad} \times 9 = 54$

$\underline{\quad} \div 6 = 9$

$54 \div 9 = \underline{\quad}$

$8 \times 4 = 32$

$\underline{\quad} \times 8 = 32$

$32 \div 4 = \underline{\quad}$

$32 \div 8 = \underline{\quad}$

$7 \times 8 = 56$

$\underline{\quad} \times 7 = 56$

$56 \div 8 = \underline{\quad}$

$56 \div \underline{\quad} = 8$

$8 \times 8 = 64$

$8 \times 8 = \underline{\quad}$

$\underline{\quad} \div 8 = 8$

$64 \div 8 = \underline{\quad}$

$6 \times 6 = 36$

$6 \times \underline{\quad} = 36$

$36 \div \underline{\quad} = 6$

$\underline{\quad} \div 6 = 6$

$6 \times 9 = 54$

$9 \times \underline{\quad} = 54$

$54 \div \underline{\quad} = 6$

$\underline{\quad} \div 6 = 9$

$8 \times 6 = 48$

$6 \times 8 = \underline{\quad}$

$\underline{\quad} \div 6 = 8$

$48 \div 8 = \underline{\quad}$

$9 \times 4 = 36$

$4 \times 9 = \underline{\quad}$

$36 \div \underline{\quad} = 9$

$\underline{\quad} \div 9 = 4$

$4 \times 2 = 8$

$2 \times \underline{\quad} = 8$

$8 \div \underline{\quad} = 4$

$\underline{\quad} \div 4 = 2$

$9 \times 3 = 27$

$3 \times 9 = \underline{\quad}$

$27 \div \underline{\quad} = 9$

$\underline{\quad} \div 9 = 3$

$6 \times 6 = 36$

$\underline{\quad} \times 6 = 36$

$36 \div 6 = \underline{\quad}$

$36 \div \underline{\quad} = 6$

$9 \times 4 = 36$

$\underline{\quad} \times 9 = 36$

$36 \div \underline{\quad} = 9$

$\underline{\quad} \div 9 = 4$

$6 \times 6 = 36$

$6 \times 6 = \underline{\quad}$

$\underline{\quad} \div 6 = 6$

$\underline{\quad} \div 6 = 6$